

 $\implies$  continuous + piecewise C<sup>1</sup>-function

Example:  $f: \mathbb{R} \longrightarrow \mathbb{C}$   $2\pi$ -periodic with  $f(x) = x^2 - \pi^2$  for  $x \in [-\pi, \pi]$ . Let's calculate the Fourier coefficients:  $C_k := \langle e_k, f \rangle = \frac{1}{2\pi} \int_{-\pi}^{\pi} e^{-ikx} f(x) dx$   $C_0 = \frac{1}{2\pi} \int_{-\pi}^{\pi} (x^2 - \pi^2) dx = \frac{1}{2\pi} (\frac{1}{3}x^3 - \pi^2x) \Big|_{-\pi}^{\pi}$  $= \frac{1}{2\pi} \cdot 2 \cdot (\frac{1}{3}\pi^3 - \pi^3) = -\frac{1}{3}\pi^2$ 

For 
$$k \neq 0$$
:  $C_{k} = \frac{1}{ik} \langle e_{k}, f \rangle$  (integration by parts, see part 15)  

$$= \frac{1}{2\pi i k} \int_{-\pi}^{\pi} e^{-ikx} \frac{2 \cdot x}{\sqrt{2}} dx \quad (\text{integration by parts})$$

$$= \frac{1}{2\pi i k} \left( -\frac{1}{i k} e^{-ikx} \cdot 2 \cdot x \right) |_{-\pi}^{\pi} - \int_{-\pi}^{\pi} \left( -\frac{1}{i k} e^{-ikx} \right) \cdot 2 dx$$

$$= \frac{1}{\pi \cdot k^{L}} \left( e^{-ik\pi} \pi - e^{ik\pi} (-\pi) \right) = 0$$

$$= \frac{1}{\pi \cdot k^{L}} \left( e^{-ik\pi} \pi - e^{ik\pi} (-\pi) \right)$$

$$= \frac{2 \cdot (-1)^{k}}{k^{L}}$$

$$= -\frac{2}{3} \operatorname{\widetilde{m}}^{2} + 2 \cdot \sum_{k=1}^{\infty} \frac{2 \cdot (-1)^{k}}{k^{2}} \cos(kx)$$

For all  $x \in [-\pi, \pi]$ :  $x^2 - \frac{1}{3}\pi^2 = \sum_{k=1}^{\infty} \frac{4}{k^2} (-1)^k \cos(kx)$  uniform convergence!

In particular for 
$$\chi = 0$$
:  $-\frac{1}{3}\pi^2 = \sum_{k=1}^{\infty} \frac{4}{k^2} (-1)^k$   
$$\implies \sum_{k=1}^{\infty} \frac{(-1)^k}{k^2} = -\frac{1}{42}\pi^2$$

Parseval's identity:  $\sum_{k=1}^{\infty} |C_k|^2 = \left\| \frac{1}{2\pi} \right\|_{L^2}^2 = \frac{1}{2\pi} \int (x^2 - \pi^2)^2 dx = \frac{8}{15} \pi^4$ 

$$\frac{2}{k^{2}-\infty} + \sum_{\substack{k=-\infty \\ k\neq 0}}^{\infty} \left| \frac{2 \cdot (-1)^{k}}{k^{2}} \right|^{2}$$

$$\frac{4}{9} \cdot \hat{n}^{4} + 2 \cdot \sum_{\substack{k=1 \\ k\neq 1}}^{\infty} \frac{4}{k^{4}} \implies \sum_{\substack{k=1 \\ k\neq 1}}^{\infty} \frac{1}{k^{4}} = \frac{\hat{n}^{4}}{90}$$